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1. REXEN T EFKE

EREFEZSHRBBIEPOEE, E EFA KL b ERE - RETE
RAWEER:

— The best title for this passage is

— The topic of the article is

— The subject of the selection is .

— Which of the following best expresses the {heme of the passage?

— The passage is mainly concerned with

— The author mainly discusses

— What is the main point of the article?

— Which sentence best \s?m\magzeg the article?

— The title that best expresses the main idea is

— The passage is about

2. TRINEAE MWL ST

EREABRXEPES RN FLRE, IR Ed, H—L4,
R HERAE =K
1. %PREEMI4], M who, what, when 2832 [H,
— According to the passage, who (what, where, when) ...?

— In what year did .. .7

— How many ... are mentioned in the article?
— What do we know about ...?
— Whyis...?

2. FWTIE RS

— According to the passage, which of the following is (not) possible?

— Which of the following statements is (not) true?

— Which of the followipg is (not) mentioned in the article?

— Which of the following is (not) an explanation to ...?

— Which of the following sentences is wrong according to the author?
3. H=EB

-— The cause for ... is

— According to the author, the technique can be used to

— The experiment shows that

— Mr. X dreamed of

2



— According to linguists, communication is

3. 1RIBMSCS | RSN

BEREEAERFESCHER L, BECPRERNF LAY HTEESHT, BH—ASEHE
w,
BRI EEE:
— The passage implies that
— It can be inferred from the passage that
— We can conclude from the article that
— What does the passage say about .. .7
— According to the article, many people may . .
— What does the author imply about ...7?
— Which of the following can (not) be inferred from the passage?
— What conclusion can be drawn from the passage?
— In the paragraph that follows this passage, we may expect the author to discuss

— The paragraph preceding this one may
4. GFEHEEINE

ERE A N CEH IR E B PREEES N BN ITE H R,
RAWEER:

— Which of the following is the author most likely to agree with?

— By using the expression “...”, the author implies that

~— The author seems to be in favour of the idea of

— The author’s attitude towards . .. might best be summarized as one of

— In the writer’ s opinion,

~— The author of the passage seems to be

— The tone of the author may be

— The author’s purpose of writing this passage is

— From the passage we know that the author

~— It can be seen from the passage that the author regards ... with
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1. iERREE

RiRBREANTR, REMAKRERYERRENFTERRHENRE.

AR OESER Y, Mg AREZ S 25 B3, RS R AR e, 5 A
BRI TR EME L, SRERRAMERMCHIDUEAT R, BEHHFRTTEL. HA—
KHBEE L=, HARBERALM, EEEL, SANROIE TRE —H 77, KR
“—H A UEER—KEW, T+ WA —MERR MRS, HE— B HTHMETERNE,
HREEEHROASEN. RAR, T ROAER AR E R EN— I ER,

FiEet, B RBHR LREER, EESREER —MAR—BE. IR LRI
etV o R A B R R B 3 e/ B R (RO B B R — M R P
$2 18 R B e O R Y 32 3 SR A B F A K R R R R A1

MRS SN ARSMEMR, B4 ANEEENZE T PRBH DR BN ARSI NS
NI HTERL LR, P7E LSRR IR 7] 5 0 A ) 1 R R 7R 5 T M 619, T 5 X4 8 R 332 B 9 R ) g O
AU BM. HE—EFXHOKE, REASHXEREERABRS L, HEM N B CHRENX
ERFEEEERE, IRETUEEENESDR FLAMARFLLERARERER, REF
WA TR R T\ T S ICAC R FT LAZEAR, T EL VT AR LM T MR T /35, sE i T LB T
A, KB ERBEZ M. XMRBAERE REAEEENREEMN. B8, NERLERN
FEER ST KRIGME R T EREL

B otk A 1 R BB B SR SMEM R N ZE R, DR BI P IR AL & . RA XA 68
BEROL R TR,

2. REFRIM

B EmEE R IRE:

——ERE BB -EHREEFHTRUMAS, S T 0 A W R £ 4 L K R 0
*;

— TSR, B AT S, AR L AR B S AR R F B R R T
RESY, XEHEEBTRPEH TR, 8 REWEE;

— R BRAREE TR, REEAE—AERA T, XFOR S T B, Eﬁ‘ﬁ?ﬁﬂhﬂq‘aﬁﬁ
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3. REEIRHETS

B i (skimming). WA LUR HRAVE BETVE SR B, THROCHM L AR WA
EHRNECRNT S AR, B 0 AR Y B, W HARS N —H -+ — R
—— F i (scanning). FEEHEFMEXEFIRE—BAE EATAIRERENHN, F
WK RAM AR £, RO R K2 (1, MEX 0841, Y ERMER TR
KiE.
R TR, W5 TSR0 A & SRR SRR A — 1

4. RARENREE

FE P R R, AR T U :

1) BEXE, TRILEN AR RESH,

2) BMEFE, X EBKE B ER. fEEHASE -G, ARFERT X F LA WE T
R RREE A SR, 5| BB W RO AW RR S S IMLRE LB G T, HRR e
Mk, Him:

The author points out that Greeks who studied conice sections

By “untaught mind”, the writer means

According to this passage, troubles on the road are primarily caused by

What does a storm sewer do to the balance of nature?

3) EREX, FEE MR (ERAE) A AEFLHNER S, TEAIET R, —REEHS
BHTRS0BE, R X@A . EEa SR

RE L B B B T B 7E TR X I AL B U IR R R BB R ERE L. A
HICSHERNR NE. SEES . ESEEME—-FIFE.

4) REET, ERKBAAZN, RENBERMAOEE BN EE LENIFEERT
i

THERER NGNS A BRI E, B IR A NG AOs RN 5 A B 7
EHRRES. RNVFEARESITEPESE —TDUMHBR.

M P ) 5 — R BT T R, % e Y e R R

1) BUFRESE SEENHT TR ARG ES,

2) P CEEES RAF B LSRR L R EEE.

3) —RiE—F, BRI,

4) —S WM ET—RILE, FERAEE.

5) 0B AR W] B8R RS, BE I REN.

EWGEE RS TG, BT RRERE R EF N REE, AR, REEERBR, HHESE
BFERE.

Passage 1

Faster effective reading

The comprehension passages on this course are designed to help you increase your reading speed.

5




A higher reading rate, with no loss of comprehension, will help you in other subjects as well as Eng-
lish, and the general principles apply to any language. Naturally, you will not read every book at the
same speed. You would ;}iqct to read a newspaper, for example, much more rapidly than a physics or
economics textbook — but you can raise your:vergge reading speed over the whole range of materials
- you wish to cover so that the percentage gain will be the same whatever kind of reading you are con-
cerned with.

The reading passages which follow are all of an average level of difficulty for your stage of instruc-
tion. They are all approximately 500 words long. They are about topics of general interest which do
not require a great deal of specialized knowledge. Thus they fall between the kind of reading you might
find in your textbooks and the much less demanding kind you will find in a newspaper or light novel.
If you read this kind of English, with understanding, at, say, 400 words per minute, you might skim
through a newspaper at perhaps 650-700, while with a difficult textbook you might drop to 200 or
250.

Perhaps you would like to know what reading speeds are common among native English-speaking
university students and how those speeds can be improved. Tests in Minnesota, U.S.A., for exam-
ple, have shown that students without special training can read English of average difficulty, for ex-
ample Tolstoy’s War and Peace in translation, at speeds of between 240 and 250 w.p.m. with about

70% comprehension. Minnesota claims that after 12 hal{-hour lessons, one a w week the reading speed

can beincreased, with no loss of comprehensmn, to zliround Sgg_v_z: p(m It is further claimed that
with intensive training over seventeen weeks, speeds of over 1000 w.p.m. can be reached, but this
would be quite exceptional. ' NAM -

If you get to the point where you can read books of average difficulty at between 400 and 500 w.
p.m. with 70% or more comprehension, you will be doing quite well, though of course any further
improvement of speed-with-comprehension will be a good thing.

In this and the following three passages we shall be looking at some of the obstacles to faster read-

ing and what we can do to overcome them.

Think of the passage as a whole

When you practise reading with passages shorter than book length, like the passages in this
course, do not try to take in each word separately, one after the other. It is much more difficult to
grasp the broad theme of the passage this way, and you will also get stuck on individual words which
may not be absolutely essential to a general understanding of the passage. It is a good idea to skim
through the passage very quickly first (say 500 words in a minute or so) to get the general idea of each
paragraph. Titles, paragraph headings and emphasized words (underlined or in italics) can be a great
help in getting this skeleton outline of the passage. It is surprising how many people do not read titles,
introductions or paragraph headings. Can you, without looking back, remember the title of this pas-
sage and the heading of this paragraph?
(557 words)

e A b et e it i



" Select the answer which is most accurate according to the information given in the passage.
N _

A higher reading rate will help in other subjects as' well as English
A provided there is no loss of understanding

B. only if we memorize well

C. but not in any other language

D. though not as a general principle

. You would expect to read a difficult economics textbook

A. as fast as you read a newspaper

B. more slowly than you read a newspaper
C. more quickly than you read these passages
D. only very rarely

. You can expect to read the passages on this course

A. more quickly than you read a newspaper
B. more quickly than you read your textbooks
C. more slowly than you read your textbooks

D. faster than any other kind of material

. The average untrained native speaker at the University of Minnesota

A. reads at 600 w.p.m.

B. reads at about 300 w.p.m.

C. cannot read difficult works in translation
D. reads at about 245 w.p.m.

. The University of Minnesota claims that in 12 half-hour lessons

A. it can triple a student’s reading speed
B. it can double a student’s reading speed
C. it can increase a student’s reading speed four times

D. no real increase in reading speed can be achieved

. Intensive training over seventeen weeks can

A. triple an untrained student’s reading speed
B. increase an untrained student’s reading speed four times
C. double an untrained student’s reading speed

D. triple the students’ comprehension scores

. You will be doing quite well if you can read books of average difficulty

A. at about 450 w.p.m. with 70% comprehension
B. at about 600 w.p.m. with 60% comprehension ?
C. at about 300 w.p.m. with 70% comprehension
D. at abogt 250 w.p.m. with 50% compreh'ens'ion

. Reading words one at a time is bad because

A. it hurts your eyes
B. all words are equally important
C. it is more difficult to get the general idea of a passage




D. some words are longer than others

9. It is a good idea to skim through a passage quickly first
A. at about 350 w.p.m.
B. to get the general idea of each paragraph

C. so that you can take in each word separately

D. to make sure you get to the end at least once

10. Titles and paragraph headings

A.

B.
C.
D.

are more important than anything else

are surprising to many people

can easily be remembered without looking back
can help us get the outline of a passage

Passage 2

Obstacles to faster effective reading

Perhaps you have seen very young childrerr—or very old people—learning
to read. They move the index finger along the line of print, pointing to
each word, sometimes even to individual letters, saying the word or letters
to themselves in a low voice. This is called “vocalizing” . Sometimes the
learner makes no sound though his lips may move:; form the words, some-
times there is not even any perceptible movement of the mouth at all, but
the learner is still activating his throat muscles slightly to “say” the words
to himself. He is still vocalizing.

However slight the extent of vocalizing may be it will still be impossi-
ble for such a reader to reach a speed of more than about'_2p8/0 w.p.m. The
appreciation of written words must be entirely visual and we must read
more than one word at a time.

Look at “you”, the second word of this passage. Even if you look
straight at the “o” of that word, without moving your eyes at all you can
clearly see “perhaps” and “have” on either side. So you can read three
words at once. Now look at the word “word” on line 3. With a very slight
movement of the eyes, you can take in the whole phrase “. .. saying the
word or letters ...” in the same glance. In the same way, you can probably
take in a complete short sentence on one line, like the one on line 8, at
one glance. None of the lines of print on a page this size should need more
than three eye movements. Take line 6. This would perhaps break up into
three word groups: (1)... times there is not even ... (2) ... any perceptible
movement. .. (3) ... of the mouth at all, but ... When you are reading well,

your eyes will be one or two word groups ahead of the one your mind is

taking in.
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